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‘General Instructions :

(i) - The question paper comprises of three Sections, A, B and C, You are to attempt all the

~ sections.

(i)  All questions are compulsory.

(iii)  All questions of Section-A, Section-B and Section-C are to be attempted separately.

fiv)  Question numbers 1 to 3 in Section-A are one mark questions. These are to be
answered in one word or in one sentence.

(v) Question numbers 4 and 5 in Section-A are two marks questions. These are to be
answered in about 30 words each.

(vi)  Question numbers 6 to 16 in Section-A are three marks questions. These are to be

answered in about 50 words each.
_(vii) Question numbers 17 to 21 in Section-A are five marks questions. These are to be

answered in about 70 words each. :
(viij)  Section Bhas 3 OTBA questions. Question number 22 is two marks, Question
number 23 is three marks and Question number 24 is five marks question.,
(ix) ~ Question numbers 25 to 33 in Section-C are multiple choice questions based on
. practical skills. Each question isa one mark question. You are to select one most

appropriate response out of the four provided to you.

(x) - Question numbers 34 to 36 in section C are two marks questions based on practical

skills. These are to be answered in about 30 words each.
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AC(BS('E Coacﬁlng for Mathematics and Science

: : WTT-37 / SECTION-A
1 msﬁm@mwmﬁlﬁmﬂﬁﬁmi

What do you understand by valence electrons? Explain,
2 A 1 B R 2 1
LA What is an ion ? '
3 e it Tt fem e @ o Bt €2 1
- Whatis the cell wall of fungi made up of?
4 THE E & Y W@ N WS g g s ¥ gt @ stgar a2 2

' Under what condition does an object sink or float when placed on the surface of a liquid ?
s WA # @ = 1500 m/s 1 mmﬁmmﬁmwmm?ﬁqmﬁ 2
L 9l = @ wiveaf 9 e
R The speed of sound in water is 1500 m/s. How far away from an under-sea rock should a -
: ~ diver be so that he can hear his own echo ?
e ) ﬁéﬁiﬁnwaﬁﬁmﬁmwﬁﬂsﬁﬂ;ﬁ@ﬂ%lm@mﬂﬂﬁ3
4 - i Sitferm T ug 1 gfe Fif :
(®) E@mmaﬁaamamﬁmwﬁamﬁl m@m%mﬁmwmﬁwmﬁw'
T A 2 '
(2)  Both helium and beryllium have two electrons in t‘he valence shells Hehurn isa noble
gas where as Beryllium is a metal, justify. Y :
; S]?ke : Hydrogen exists in three isotopic forms. Why are the f,sotopes of hydrogen chemlca]ly
%mﬁaﬁwmwﬁ amammaﬁ%‘? awm%wfa&qwmm 3

oo fafen \)4-0"’

What do you understand by atoxmczty of an element ? Name two poly-atoxmc elements Also
write their chemical formulae.

b B wwﬁﬁ%?ﬁ@ﬁwmﬁwwﬁﬂm%@ﬁlﬁam : ' “3
' P What are ions ? Write the formulae of two divalent cations and, anions each, ; B
('/- Ty e U aﬁnwﬁmqﬁﬁ‘ﬁﬁﬁﬂﬁq _"* ; 3

) R yeRiEET nqaﬁr

: (11} ﬁfran Eacieaksiny b o 8 .
Differentiate between 'Healthy aDd Dlsease Free' in terms of (i) nature of body functioning (u) |
level of considerations.

mﬁmamﬁﬁm%nwmmw—ww&%@#awmr ' 3
Give any two differences between angiosperms and gymnosperms gwmg one example of

e
_each. ' \
h ot

"Mmﬁww#wﬁ'mmwaﬁﬁﬂmﬁama e

How can you justify the statement ‘prevention of diseases is better than cure’ ?

12 (a) 7@ % el o afbe sier i s S 2 _ 3
(b) i g & R a1 o S ot 30 A ur ¥ g v e ﬁwW
8?2 . , : .
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(@) A truck has much wider tyres. Why ? 2
{b) A child sitting along a swimming pool feels lighter while lowering his legs in water.
Why ?

1B wF WISl oW R I IR W SOl w9 €, 9 U § IR € U 9RA | &0 3
3§99 ® WM I SEa 3 AR §d 99 ¥ = §1 9@ 1530 m/s ¥, § Est |

A @ 9 Siww

A ship sends out ultrasound, pmduoed by transmitter that returns from the sea-bed and
detected after 3 sec. If the speed of ultrasound through sea water is 1530 m/s., find the
distance of the sea-bed from the ship.

1B S i i T e § 9 s el | 3
State Archimede's Principle. Explain its two applications.
15 (a) ViR FSI9EE W W fofed v suw g S | 3

(b) 1000 W ¥ U= faea §1X 9 Uw R & Q R swdm & o st §1 28 &6 & & v @
mewwmmﬁﬁﬁ‘{mﬂq@qzsmﬁv -

(@)  Name and define the SI unit of power. ©c /L/;)-
()  An electric heater of 1000 W musedforzhoursaday What is thecostofusmrg itfora
~  month of 28 days, if 1 unit costs ¥3.00 ? Q(\;h\wtgﬁ Qe LAY

16 Wmmasmgwmwmsﬁmmwmm?lmma
40km h* i 798 9190 § SR Sadl 8l

(1) @ 90 9% 9 g0 Wi ge9 fafaw

2 FRY P F TR W AT G ¢, 3T T SRR F G |

(@) Su= 9 T 0kmh1H o 99 @ R <R ¥ | @9 22

Shyam goes to his office, which is 6 km from his house, by car pooling with a friend. His
friend drives the car at the constant speed of 40 km/hr.

(@)  State values shown by Shyam and his friend ?

(b)  Explain energy transformation takes place when fuel is burnt and car starts running ?

()  whatis the advantage of driving the car at constant speed of 40 km/hr?

1 O % WY & arRgad M FE1H 4 30 €1 T 99 S W SO | 2 as o 5
wﬁmimﬁmmmﬁmtmﬁﬁﬁmﬁmﬁmm@m

A F @ e Fifer | L d

An atom of an element has 4 electrons in the outermost M shell. What will be the atomic
- number of thxs element ? Name tl'us element Fmd the va.lmof thjs element. Draw a

g

18 _ﬁﬁmﬂ%mmﬁmmﬁ%mﬁm: 5
() ¥R T A A Ao o sttt R fafm 78 G ¥ wigell Qa3 T
fafiay frr <idi % it H fafs @ varfea e &)
\(b) e i 2 T T A &, T e T ST o7 R A e et
W28 T 9 St 1 O SR e < fafee e S 2eme w9 w et §) few wmem &

¥ FEHie™ g &2
(©) _wm%ﬁﬁ@wammaﬁtlmWﬁmmﬁm
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PRI TTF—> T 3T &1 e SERfTis F s v e & @ 3 71 o

FIfeTg s shaer: e i qar gwie e faem €1
() i Fiferw ®Ri vaks , AYA SRR 991 9% SRR, § 9 3 § 3 91 wR) fasfa

ﬁlm%?ﬁ‘g‘ai‘fﬁﬁﬁ'ﬁﬁ?qm ﬁfﬁﬁﬂzw*ﬁﬂmtl

(a) In a four-chambered heart, no mixing of oxygenated and deoxygenated blood takes

- place. Na}{g‘ﬁ 0 of animals in the body of which mixed blood flows.
nil

have no body cavity, Annelids and the groups that follow have true . . o\ 4
Coelom. Which other phylum has no coelom ? Which one has pseudocoelom ? P S g
() © Phylum protochordata has™a new feature notochord. Up to which phylum this

- structureisnot present? oY
(d)

In organisms the level of organization ranges from cell->tissue—»organ—>organ system.
State the groups which have only cellular and tissue level respective . @ g 207
Out of the three germ layers : endoderm, mesoderm and ectoderm, which develops

- Name two groups of animals that have this germ layer too.

(@) UEEsTmERE? ' 5

() qﬁﬁaﬂa@mﬁvﬁmﬁmwmmmﬁaﬂﬁmmﬁﬁwwm%

mfaﬁam
© mmmawmﬁmﬁﬁmﬁﬁmmﬁ%ﬁqwmﬁmé
ThAE?

(a} - What are vectors ?

(b)  In many species of mosquitoes the males do not feed on human blood, but females do.
State why?

() What precautions could you take in your locality or society to reduce the incidences
- of infectious diseases ?

(a) wmémﬁwﬁa}aﬁﬁmgw:mmﬁaaﬁﬁmmm
ﬂﬁ#wm%?mmﬁmi ' g
(b) T %mmwﬁ@wiémm&ﬁqwﬁﬁﬁmﬂ

(© R iR smgfa ¥ ST ame fafaw) _
2)/ Does the sound of an exploded cracker in air travel faster than the sound produced by

humming bee ? State reason, -

\._,-@“ List the three characteristics of a sound wave and state the factors on which these

21

 Pagedof9

()  State the SI units of wavelength and frequency.
mmﬁﬁmﬁf@mﬂmm#fmmmmmamﬁﬁm 5
q TN GE TIAN W w %km/hﬂﬁkm/h%nﬁnﬁwha%wﬁmmm
RETHr FH: 400 kg TUT 600 kg # A TR e TS B srum W )

Define kinetic energy, Write an expression for kinetic energy and the SI unit of kinetic
Two cars are moving with velocities 36 km/h and 54 km/h on a highway. Find ﬂn ratio of
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their kmehc energies if mass of the cars is 400 kg a;;d 600 kg respectively.
- HIET-¥ ( ¥ 8 ) /SECTION - B (OTBA)
- (* Please ensure that open text of the given theme is supplied with this question paper.)
ooy @ iar o |
Theme: Health & Environment
22 wwmﬂ%ﬁ?mvﬁaﬁmaﬁﬁmwwﬁmﬁmﬁ?w 2

H9?
Do you think consuming fish with h:gh Hg ievels can be a problem? How?

23 How can we improve upon the quality of water we use? State three ways. 3
mwﬁnmaﬁmﬁmaﬁmﬁaﬁﬁwﬂmé??ﬂﬁmml

24 m@mmm@memw@ﬁmr _ 2

~ State any five ways to reduce our exposure to chcmlcals
ey WRI-§/SECTION - C S
25 | qa:mﬁuﬁhmmﬁwﬁqmawﬁqw ' : 1
(i) T & EE |
(i) T T g g SR
C(iv) A EEA 9 F IRy
(v) U Tien aun 9w Ee
(vi) T T HEw
wﬁmmﬁﬁmmﬂmmaﬁ%mﬁq%ﬁﬁaﬁmﬁaﬁmmwﬁz

@ O @) ) @
B @) @) () (V)
T ), T v), () (vi)
@ @ @) () (i) : '
A student is given the follomng apparatus wluch are avaﬂable in the laboratory
“(i) A thermocol sheet
(i) A broad source of sound
(iii) A polished metal sheet
(iv)  Two hollow glass pipes
(v) A pointed and intense source of sburid
(vi) A detector of sound :
'T'he student venfled the laws of reflection of sound correctly by using the apparatus labelled

(a) (i), (i), (i), (iv)
(b) @), (), (v) (v
7 @, (@), (v) (vi)
N O @ ), )
& TF @it & T ) Forest R 10em x 15cm x5 em ¥, ffee a0 W #1 1

AT G ST TR S TR AN T W AU 9 e
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@ 371 ® 13 © 12 @ 2/1 ()

Hari places an iron cuboid of mass ‘m’ of dimensions 10cm x 15cm x 5 cm on the 1o
The ratio of minimum to maximum pressure exerted by the iron cuboid on sand is : T,EZE‘.—‘} 15ye

@ 31 ° ~1/3 (9. 1/2 d 22 L% \sq_,m ;i
27 ﬂmﬂmsﬁﬁaawwﬁwﬁﬁﬁgﬂﬁﬁﬁﬁﬂmaﬁWmﬁmwﬁﬁmml
. ¥ YR 8-
1) S T 9w F R B AR wew I gl
2) A AR yae g2 S F I THSH Foh AT FH 3HT @i
(3) ifEd A et WA e S H GEd AT THSH Foh] AR WS IF Gie
@ WA AR YaeR S F S N yee S Fee 38 @i
weew w9 et v @ 9w 8-
@ @) I (9 wife (@ T
Neena, James, Lohit and Madhur did the experiment on measuring the speed of a pulse
prOpagated through a stretched string as follows :
(1) _ :Neena stretched his thick cotton string and gave it a strong horizontal jerk.
James stretched a thin jute string and gave it a mild transverse jerk.
Lohit stretched his thick cotton strmg very tight and gave it a mild transverse jerk.
(4)  Madhur stretched his thin jute string and gave it a strong horizontal jetk. '
The best choice is of :
s ()  Neena (b)  James ‘(¢)  Lohit (d) Madhur, .
28 ﬁﬁquﬁﬁéﬁﬁmﬁﬁwmwawaﬂwm%? s g3 1
() TAES ~ . s Q E-(_ .
(b)  TESifEs o &il o AR 5 LT T @-D:
© S o | é o
(d) e st T W & &7 |

Whlch of the following characters is identifying feature of gymnosperms ?
".(a) - Naked seeds , bfy ; M _
{bj  Rhizoids present :

. (¢) ~ Chlorophyll absent

~(d)  Doesnot possess vascular bundle

29 @mﬁmmﬁmﬁmﬁwmﬂmmmﬂmﬁamm%l E‘ﬂﬂq'ﬂﬁ'ﬂﬂq 1
o Y % o 5@ = 4 W Sl %ﬁ—lﬁmmwmaﬂ%@ :
@) mgmgaﬂagmmml
) - e Getne fred B TR B
() i fra don Fr ehe e |
d). maﬁrzﬁwmﬁr&wmﬁﬁaﬁwn

' A student wants to perform an experiment to verify the Law of Conservation of mass in a
" chemical reaction. To get best result which pan' of reactants should he select ? g

() Quick lime and water . .
(b)  To heat ferrous sulphate crystals =~ - _
© - Magnesmm ribbon and copper sulphate soluIJon .

Page 6 of 9

~ Downloaded from: http://jsuniltutorial.weebly.com/ : Page 6 of 9



AC‘]}S('E Coacﬁlng for Mathematics and Sclcm:c

Copper sulphate solution and sodium carbonate solution

mmﬁwmﬁmﬂmm%mmmmm 1

FARES 1 3w for w9 4 for s d aw d
@ T P,
(c) fooem gen = (@) o R

To verify the law of conservati
H . . « .
chloride should be used in the ?;r:: :;3::55 in a chemical reaction, MM and barium

—{a)  fine powder
| (c)  molten liquid %) ::E:ocurzss‘:lljﬁon
LB e 5 R R A ) wfl A S v A it T SR Sfeeeq i fEmdme? 1

(@ T (b) T
E ) (@  grden
eaves of which of the following plants h ; S .
shown in figure below ? g plants has reticulate venation in their leaves as

()  Rose plant (b) Maize plant
(9 Grass (d)  Wheat plant
H@%ﬁ%ﬁﬁﬁﬁmﬁﬁ#mﬁmﬁﬁ%ﬁﬁ—ﬁﬁ wel g =R e fr fry = 1

forereq <hT A HIA ©

(@) YGRS qul T Rrafe=ara

(b) ~ WER g @ Sfrenra frafa=ara

(  TEe S guAir frafa=m

(d) e Sig 9 iferemmed ferfarr

Four observations are recorded by different groups of students about the roots and leaves of

mustard plants. Choose the correct options :
~(a)  Fibrous root and parallel venation
b () ~ Fibrous root and reticulate venation
By T (c)  Tap rootand parallel venation
 (d)  Taproot and reticulate venation 1

-.33 m?ﬁ\—rﬁaﬂﬁ ) <1 7 e
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o)l W)
(9 A
Idenhfy the gwe:n stage of the life cycle of a mosquito :

e e T oege, S (d) - adult
34 -Wsnmm%wa’mmmmmﬁ%maﬂaﬁww@wﬁWW| 3| 2

ﬁwﬁg&hﬁﬂ%ﬁmmwﬁﬁmﬁm%mﬁﬁ aﬂwﬂ’mw’ét a"mm
-aﬂaaﬁaﬁﬁm '

S

determme the denmty ofa sohd of mass 30 gm the solid was l"ully mmersed into water.
The level of water in the measuring cylinder before and after immersing of solid is shown in i
the dlagrams Fmd the density of solid. :
~~ A1 f

=N

D"-‘M I
Pl
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i "'\,.\
— CA _
ﬁﬁg@%mm%wﬁwmaﬁmwﬁmﬁ 3 W A T 9 R FRR W2
. P e? I ugae Y
In an experiment to determme the Toss of ight of an object when immersed in a Ilqmd

State the factors on which the force acting on an object depends ?

mmﬁwﬁ@WMqﬂﬁmwwmmﬁwﬁaaﬁ% ﬂnnwuwﬁa 2
mﬁmmquﬁwwﬁaﬂ%mﬁaﬁwaﬁﬁwﬂmﬁaﬁwﬁ Hfeh

e ¥ 7 e & for e ffee)

While perfonmng the expenment to establish the relation between loss of w
when immersed in water, tgg]gw_dght_dﬂamdkplaﬁd: it is seen that loss in weight of
solid in salty water is more than tap water. State reason for this observatlon

-0000000-
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